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THOUGHT OF THE DAY

Success is Vehicle
Which Moves on Wheel Called
“Hard Work™

o
! T .

e ._. - .
JiY
o




STUDENT’S CORNER

monika kumari & hours ago urmila kumari 6 hours ago
All are correct answer Today's HW ans.- ¢

Thank you sir 4,
Vvery helpful session I" 1 g] Reply

g ' GF Reply

Zikra Yasmeen 4 hours ago
Tanisha p & hours ago i DD‘UDI’I C

I'.'n-g
:

Thank u sir awesome session sir e

HW- part C gL LH Reply
e ' GO Reply

Surbhi Sinha & hours ago
a Arun Prakash & hours ago . GD-“,:.” Ccoooe T 1/
Correct option 'C’
Thankyou sir & e ' SF Reply

e 1 GF Reply .

— Tanu Jain 24 minutes ago

Muskan Rai 6 hours ago 3 HW Ans is - C part
ANSWER=C

THANK U SIR E& ; Reply
1 Reply
o A I abhay singh 32 hours ago

Niharika Jha & hours ago Option c 1s answer

Homework answer option C . — ——



WORD OF THE DAY

Gloomier

(Adjective) : TS Having
or showing a lack of hope
Synonyms: Dark , Somber

Antonyms: Bright ,Cheerful
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1.  This laboratory of physics is (1)/ not only equipped
with (2)/ all state-of-the-art instruments (3)/but also
with outstanding physicists (4)/ No error (3)

1. 2) Equipped not only with should be used in place
of not only equipped with
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2. No method of making (1)/ other people agree to
(2)/ your view point is (3)/ as effective as this
method. (4)/ No error (5)

2.(1) When we compare two things belonging to the
same group, we use no other. Whereas, when
two things belonging to different groups are
compared, we use no. Therefore, no other will be

used in place of no.
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3. I was pretty sure that (1)/ he would support my

views (2)/ for changing the age-old (3)/ and static
structure of our organisation. (4)/ No error (5)

3. (3) Views should be followed by on and not for.



|| SBI PREVIOUS YEAR QUESTIONS

4. 1 did not like his (1)/comments on my paper (2)/
but I had no alternative (3)/ as I had agreed to
keep quiet. (4)/ No error (5)

4. (5) No error.
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S. The report is candid in admitting (1)/ that the
investment by the government (2)/ in health

and family planning (3)/ have been eroded
considerably (4)/ No error (3)

S. (4) Have been should be replaced with has been.
Here have been is governed by the Subject
investment. Investment is a Singular Subject.
So, Singular Verb has been must be used in
place of have been
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6. 1 live on a top floor (1)/ of an old house. (2)/
When the wind blows (3)/ all the windows
rattle. (4)/ No error (3)

6. (1) The article the is used before physical
place (position) like top, bottom etc. So,
we say the top, the bottom.
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7. Had he not reached in time (1)/ he would have
missed (2)/ a golden opportunity which
comes (3)/ once in a while (4)/ No error (5)

7. (S) No error.
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8. The Ministry of Labour conducts its basic survey (1)/
on trade unions each year (2)/ gathering

information with all (3)/ labour unions as of June
30. (4)/ No error (5)

8. (3 Here, information agrees with
about/of (Prep.) Hence, gathering
information about/of all will be used.
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9. Stories have always been used (1)/ as a powerful tool
for (2)/ communicating vital information from (3)/ one

generation to another. (4)/No error (5)

9. (5) No error
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10. We all are indebted to him (1)/ for holding not only
high moral values (2)/ but also rendering dedicated

service (3)/ for the betterment of human race. (4)/ No
error.(5)

10. (2) Not only.. but also connects two words in
Part of Speech. As but also is followed by
rendering so not only must be followed by holding.
(Participle). Therefore, for holding not only will
be substituted with for not only holding.
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11. He has a........ knowledge about ancient Indian
scriptures.

(1) delectable (2) profound

(3) enriching (4) vociferous

(5) None

(2) profound

delectable (Adj.) : delicious : delightful

enriching (Adj.): to improve the quality of
something

vociferous (Adj.) : Crying out noisily
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12. Your allegation should be based on facts
and not on........
(1) surmise (2) proofs
(3) projections (4) antipathy (3) records

(1) surmise

surmise (V.) : to guess/suppose something using the evidence you
have, without definitely knowing

projections (N.) : a prediction based on known evidence and
observations

antipathy (N.) : a strong feeling of dislike
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13. He spent whole of his life in........ the miseries of
the downtrodden people.
(1) destroying (2) absorbing
(3) advocating (4) avoiding
(5) mitigating

(5) mitigating

advocating (V.) : to support something publicly

mitigating (V.) : to make some thing less harmful, serious,
etc.:

alleviating
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14. The .........climate of our town will help
recover his health.

(1) enchanting  (2) prestigious

(3) salubrious (4) enriching 5)
proverbial Vs -

14 (3) salubrious
enchanting (Adj.): attractive and pleasing ,
prestigious (Adj.) : respected and admired as very important/

of very high quality
salubrious (Adj.) : (of a place) pleasant to live in : clean and
healthy

proverbial (Adj.) : well known and talked about by a lot of
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15. He has the ...... distinction of losing the election for
the sixth consecutive term.

(1) reliable (2) manifest

(3) lamentable (4) dubious (5) refreshing

o ¥4

S. (4) dubious

reliable (Adj.): that you can rely on
manifest (Adj.) : easy to see/ understand
dubious (Adj.) : doubtful

lamentable (Adj.) : very disappointing
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Modern (a) farm implements (b)
have revolusionised (c¢) the
agricultural industry. (d) All

correct (e)

revolutionized
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High costs and a deficient

monsoon will the financial

condition of cotton farmers.
a) Output, Strengthen
b) Output, Worsen
¢) Input, Worsen
d) Input, Strengthen
e) None of the above






